Vol. 14, No. 4, pp. 1491-1500, August 2010

This paper is available online at http://www.tjm.nsysu.edu.tw/

DERIVATIVES OF BERNSTEIN OPERATORS AND SMOOTHNESS WITH JACOBI WEIGHTS

Jianjun Wang*, Guodong Han and Zongben Xu

Abstract. Using the modulus of smoothness with Jacobi weights $\omega_{\varphi\lambda}^2(f,t)_{\omega}$, the relationship between the derivatives Bernstein operators and the smoothness of the function its approximated in the weighted approximation is characterized, an equivalent theorem between Bernstein operators and the modulus of smoothness with Jacobi weights is established. The corresponding results without weights are generalized. In addition, we obtain the direct theorem in the approximation with Jacobi weights by Bernstein operators.

1. Introduction and Main Results

Let C[0,1] be the set of continuous functions on [0,1], then the *Bernstein* operators on are given by

$$B_n(f;x) = \sum_{k=0}^{n} P_{n,k}(x) f(\frac{k}{n}),$$

where $P_{n,k}(x)=C_n^kx^k(1-x)^{n-k}, x\in[0,1]$, and $f\in C[0,1], n\in N$. It was shown by Ditzian. Z. [1] in 1985 that if $0<\alpha<2$ then

$$\omega_2(f,t) = O(t^{\alpha}) \iff B_n''(f,x) \mid \leq M \left\{ \min \left[n^2, \frac{n}{x(1-x)} \right] \right\}^{\frac{2-\alpha}{2}}$$

In 1992, Zhou, D. X. [5] extend the result of Ditzian [1] to higher orders of smoothness. In addition, the close connection between the derivatives of the *Bernstein* type operators and the smoothness of function which has been investigated by Z. Ditzian, V. Totik, K. G. Ivanov and some other mathematicians [2, 4].

Received July 18, 2008, accepted October 25, 2008.

Communicated by Sen-Yen Shaw.

2000 Mathematics Subject Classification: 41A36, 41A25/CLC.

Key words and phrases: Weighted approximation, Bernstein operators, Jacobi weights.

Supported by Natural Science Foundation of China (Nos. 10726040,70531030, 10701062), the Key Project of Ministry of Education of China (No.108176), China Postdoctoral Science Foundation (No. 20080431237), Southwest University (China) Development Foundation of China (No. SWUF2007014) and Southwest University Doctoral Foundation of China (No. SWUB2007006).

*Corresponding author.

In [3], the author obtained the equivalent theorem between Bernstein operators and the modulus of smoothness(without weights), but in the weighted norm $\sup_{x\in[0,1]}|\omega(x)f(x)|$, Bernstein operators does not converge [5], so it is not simple generalization of the results of approximation without weights [3]. Using the norm

(1.1)
$$||f||_{\omega} = \max_{x \in [0,1]} |\omega(x)f(x)| + |f(0)| + |f(1)|,$$

where $\omega(x) = x^a (1-x)^b$, 0 < a, b < 1 is Jacobi weights, Zhou, D. X. [5] showed the boundness of *Bernstein* operators with the Jacobi weights.

Since we only consider the *Bernstein* operators from now on, let us suppose that $\varphi^2(x) = x(1-x)$. First we give some notations,

$$C_0 = \{ f \in C[0,1], f(0) = f(1) = 0 \}.$$

To characterize functions in terms of theirs behaviors of various moduli of smoothness, we assume throughout the paper that $0 \le \lambda \le 1$.

We recall the weighted K-functional given by [4]

(1.2)
$$K_{\varphi^{\lambda}}(f, t^{2})_{\omega} = \inf_{g \in D} \left\{ \|f - g\|_{\omega} + t^{2} \left\| \varphi^{2\lambda} g^{"} \right\|_{\omega} \right\},$$

where $D=\{g\in C[0,1]:g'\in A.C.loc, and \parallel \varphi^{2\lambda}g''\parallel_{\omega}<\infty\}$ is a weighted Sobolev space.

And modulus of smoothness with Jacobi weights [4] is defined by

(1.3)
$$\omega_{\varphi^{\lambda}}^{2}(f,t)_{\omega} = \sup_{0 \le h \le t} \left\| \Delta_{h\varphi^{\lambda}}^{2} f(x) \right\|_{\omega},$$

where
$$\Delta_{h\varphi^{\lambda}}^2 f(x) = f(x + h\varphi^{\lambda}) - 2f(x) + f(x - h\varphi^{\lambda}).$$

Remark 1. By [5], Since all polynomials are included in D, and obvious, through the equation (1), we have $||f||_{\omega} \le 3 ||f||_{\infty} (||f||_{\infty} = \sup |f(x)|)$, So D

is dense in the $(C[0,1],\|\cdot\|_{\omega})$. Hence $K_{\varphi^{\lambda}}(f,t^2)_{\omega}\to 0 (t\to 0)$. For $f\in C_0$, from [4], there exists a positive constant C such that

(1.4)
$$C^{-1}\omega_{\varphi^{\lambda}}^{2}(f,t)_{\omega} \leq K_{\varphi^{\lambda}}(f,t^{2})_{\omega} \leq C\omega_{\varphi^{\lambda}}^{2}(f,t)_{\omega}$$

Throughout the paper, the letter C, appearing in various formulas, denotes a positive constant independent of n, x and f. Its value may be different at different occurrences, even within the same formula.

In the present paper, we characterized relationship between the derivatives of Bernstein operators and function its approximated using the modulus of smoothness with Jacobi weights $\omega_{\varphi^{\lambda}}^{2}(f,t)_{\omega}$ in C_{0} , which extend the corresponding results in the approximation without weights. The main results can be stated as follows.

Theorem 1. For $f \in C_0$, we have

$$\left|\omega(x)\varphi^{2\lambda}(x)B_n''(f;x)\right| \le C\left(\left(n^{-\frac{1}{2}}\varphi^{1-\lambda}(x)\right)^{-2}\omega_{\varphi^{\lambda}}^2(f,n^{-\frac{1}{2}}\varphi^{1-\lambda}(x))\omega\right)$$
$$\le C\delta_n^{-1}(x)\omega_{\varphi^{\lambda}}^2(f,\delta_n^{\frac{1}{2}}(x))\omega$$

where $\delta_n(x) = \frac{\varphi^{2-2\lambda}(x)}{n} \max\{n^{-1}\varphi^{-2}(x), 1\}.$

Theorem 2. For $f \in C_0$, $0 < \alpha < 2$, we have

$$\left|\omega(x)\varphi^{2\lambda}(x)B_{n}^{"}(f;x)\right|=O(\delta_{n}^{\frac{\alpha-2}{2}})$$

is equivalent to

$$\omega_{\varphi^{\lambda}}^{2}(f,t)_{\omega} = O(t^{\alpha}).$$

Remark 2. The above equivalence relation without weighs have been improved in [7], that is, the quantity $\delta_n(x)$ in Theorem 2 can be replaced by $\frac{\varphi^2(x)}{n}$ when $\lambda=0$ and a=b=0. We conjecture that for Jacobi weights, there holds $\left|\omega(x)\varphi^{2\lambda}(x)B_n^{"}(f;x)\right|=O((\frac{\varphi^2(x)}{n})^{\frac{\alpha-2}{2}})\Longleftrightarrow \omega_{\varphi^{\lambda}}^2(f,t)_{\omega}=O(t^{\alpha}).$ In fact, the proof of Theorem 1 shows that the direct part holds true.

$$\left|\omega(x)\varphi^{2\lambda}(x)B_n''(f;x)\right| = O(\left(\frac{\varphi^2(x)}{n}\right)^{\frac{\alpha-2}{2}}) \Longleftrightarrow \omega_{\varphi^{\lambda}}^2(f,t)_{\omega} = O(t^{\alpha})$$

2. Some Lemmas

To prove our main results, we need the following interesting results. Among these results, Lemma 1 and Lemma 2 can be found [5, 6], and then we will give Lemma 3 and Lemma 4.

Lemma 1. ([6]). For $0 < t < \frac{1}{16}$, $\frac{t}{2} < x < 1 - \frac{t}{2}$, and $0 \le \beta \le 2$, we have

$$\int_{-\frac{t}{2}}^{\frac{t}{2}} \int_{-\frac{t}{2}}^{\frac{t}{2}} \varphi^{-\beta}(x+u+v) \mathrm{d}u \mathrm{d}v \le Ct^2 \varphi^{-\beta}(x).$$

Lemma 2. ([5]). For $f \in C_{[0,1]}$, we have

$$\left|\omega(x)\varphi^{2}(x)B_{n}^{"}(f;x)\right| \leq Cn \|f\|_{\omega}.$$

Lemma 3. For $f \in D$, we have

$$\left|\omega(x)\varphi^{2\lambda}(x)B_n''(f;x)\right| \leq C \left\|\varphi^{2\lambda}f''\right\|_{\omega}$$

Proof. In the norm (1.1), by (see [5, Proposition 2.3]),

$$||B_n f||_{\omega} \le 2^{1+a+b} ||f||_{\omega}.$$

And from the property of Bernstein operators, we can easily get

$$B_n(f,x) = B_n(f_1, 1-x);$$
 $B_n(f, 1-x) = B_n(f_1, x),$

where $f_1(x) = f(1-x)$. So we only need to estimate $\|\omega \varphi^{2\lambda} B_n^{"} f\|_{C[0,\frac{1}{\alpha}]}$ as follows.

$$\begin{split} & \left| \omega(x) \varphi^{2\lambda}(x) B_{n}^{"} f \right| \\ &= \left| \omega(x) \varphi^{2\lambda}(x) n(n-1) \sum_{k=0}^{n-2} \int_{0}^{\frac{1}{n}} \int_{0}^{\frac{1}{n}} f^{"}(\frac{k}{n} + u + v) \mathrm{d}u \mathrm{d}v P_{n-2,k}(x) \right| \\ &= \left| \omega(x) \varphi^{2\lambda}(x) n(n-1) \sum_{k=1}^{n-3} \int_{0}^{\frac{1}{n}} \int_{0}^{\frac{1}{n}} f^{"}(\frac{k}{n} + u + v) \mathrm{d}u \mathrm{d}v P_{n-2,k}(x) \right| \\ &+ \left| \omega(x) \varphi^{2\lambda}(x) n(n-1) \int_{0}^{\frac{1}{n}} \int_{0}^{\frac{1}{n}} f^{"}(\frac{k}{n} + u + v) \mathrm{d}u \mathrm{d}v P_{n-2,0}(x) \right| \\ &+ \left| \omega(x) \varphi^{2\lambda}(x) n(n-1) \int_{0}^{\frac{1}{n}} \int_{0}^{\frac{1}{n}} f^{"}(\frac{k}{n} + u + v) \mathrm{d}u \mathrm{d}v P_{n-2,n-2}(x) \right| \\ &\stackrel{\triangle}{=} I + I + K. \end{split}$$

By the Holder Inequality, we obtain

$$I = |\omega(x)\varphi^{2\lambda}(x)n(n-1)\sum_{k=1}^{n-3} \int_{0}^{\frac{1}{n}} \int_{0}^{\frac{1}{n}} f''(\frac{k}{n} + u + v) du dv P_{n-2,k}(x)|$$

$$\leq \omega(x)\varphi^{2\lambda}(x)\sum_{k=1}^{n-3} (\frac{k}{n})^{-\lambda - a} (1 - \frac{k+2}{n})^{-\lambda - b} du dv P_{n-2,k}(x) \left\| \varphi^{2\lambda} f'' \right\|_{\omega}$$

$$\leq 2^{3\lambda + a + b} \omega(x)\varphi^{2\lambda}(x)\sum_{k=1}^{n-3} [(\frac{n-2}{k+1})^{\lambda + a} + (\frac{n-2}{n-1-k})^{\lambda + b}] P_{n-2,k}(x) \left\| \varphi^{2\lambda} f'' \right\|_{\omega}$$

$$\leq 2^{3\lambda + a + b} \omega(x) \varphi^{2\lambda}(x) \left\{ \left[\sum_{k=1}^{n-3} \left(\frac{n-2}{k+1} \right)^2 P_{n-2,k}(x) \right]^{\frac{\lambda + a}{2}} + \left[\sum_{k=1}^{n-3} \left(\frac{n-2}{n-1-k} \right)^2 P_{n-2,k}(x) \right]^{\frac{\lambda + b}{2}} \right\} \left\| \varphi^{2\lambda} f'' \right\|_{\omega}.$$

Making use of the following results of [8]

$$\sum_{k=0}^{n} \left(\frac{n}{k+1}\right)^{2} P_{n,k}(x) \le 2x^{-2}, \quad \sum_{k=0}^{n} \left(\frac{n}{n-k+1}\right)^{2} P_{n,k}(x) \le 2(1-x)^{-2},$$

we obtain that $I \leq C \left\| \varphi^{2\lambda} f \right\|_{\omega}$ and

$$J = |\omega(x)\varphi^{2\lambda}(x)n(n-1)\int_{0}^{\frac{1}{n}}\int_{0}^{\frac{1}{n}}f''(u+v)\mathrm{d}u\mathrm{d}v P_{n-2,0}(x)|$$

$$\leq n^{2}\omega(x)\varphi^{2\lambda}(x)\int_{0}^{\frac{1}{n}}\int_{0}^{\frac{1}{n}}(u+v)^{-\lambda-a}(1-u-v)^{-\lambda-b}\mathrm{d}u\mathrm{d}v P_{n-2,0}(x)\left\|\varphi^{2\lambda}f''\right\|_{\omega}.$$

The following we will divide into three parts to estimate J.

Case 1. For $\lambda + a < 1$, we have

$$J \leq 2^{\lambda+b} n^2 \omega(x) \varphi^{2\lambda}(x) \left\| \int_0^{\frac{1}{n}} (u+1)^{1-\lambda-a} du P_{n-2,0}(x) \right\| \left\| \varphi^{2\lambda} f^* \right\|_{\omega}$$
$$\leq C n^2 x^{\lambda+a} (1-x)^{n-2+\lambda+b} \left\| \varphi^{2\lambda} f^* \right\|_{\omega}$$
$$\leq C \left\| \varphi^{2\lambda} f^* \right\|_{\omega}$$

Case 2. For $\lambda + a > 1$, we have

$$J \leq Cn^{2}\omega(x)\varphi^{2\lambda}(x)\left|\int_{0}^{\frac{1}{n}}u^{1-\lambda-a}duP_{n-2,0}(x)\right|\left\|\varphi^{2\lambda}f^{"}\right\|_{\omega}$$

$$\leq Cn^{\lambda+a}x^{\lambda+a}(1-x)^{n-2+\lambda+b}\left\|\varphi^{2\lambda}f^{"}\right\|_{\omega}$$

$$\leq C\left\|\varphi^{2\lambda}f^{"}\right\|_{\omega}$$

Case 3. For $\lambda + a = 1$, we can easily obtain by directly computing

$$J \leq 2^{\lambda+b} n^2 \omega(x) \varphi^{2\lambda}(x) \left| \int_0^{\frac{1}{n}} (\ln(u + \frac{1}{n}) - \ln u) du P_{n-2,0}(x) \right| \left\| \varphi^{2\lambda} f^* \right\|_{\omega}$$

$$\leq Cn \omega(x) \varphi^{2\lambda}(x) P_{n-2,0}(x) \left\| \varphi^{2\lambda} f^* \right\|_{\omega}$$

$$\leq Cn x (1-x)^{n-2+\lambda+b} \left\| \varphi^{2\lambda} f^* \right\|_{\omega}$$

$$\leq C \left\| \varphi^{2\lambda} f^* \right\|_{\omega}.$$

Similarly, we can also estimate the bound of K and the proof of lemma 3 is complete.

Lemma 4. Let
$$\omega(x) = x^a (1-x)^b$$
, $0 < a, b < 1$. Then for $f \in C[0, 1]$, $|\omega(x)(B_n(f, x) - f(x))| \le C\omega_{\omega^{\lambda}}^2(f, \delta_n^{\frac{1}{2}}(x))_{\omega}$.

Proof. By (1.2) and (1.4), let $g = g_n = g_{n,x,\lambda}$, for the fixed x and λ , we have

(2.1)
$$||f - g_n||_{\omega} \le C\omega_{\omega^{\lambda}}^2(f, \delta_n^{\frac{1}{2}}(x))_{\omega}$$

and

(2.2)
$$\delta_n(x) \left\| \varphi^{2\lambda} g_n^* \right\|_{\omega} \le C \omega_{\varphi^{\lambda}}^2(f, \delta_n^{\frac{1}{2}}(x))_{\omega}.$$

Thus,

$$|\omega(x)(B_n(f,x) - f(x))|$$

$$\leq |\omega(x)(B_n(f - g_n, x) - (f(x) - g_n(x))| + |\omega(x)(B_n(g_n, x) - g_n(x))|$$

$$\leq C\omega_{\varphi^{\lambda}}^2(f, \delta_n^{\frac{1}{2}}(x))_{\omega} + |\omega(x)(B_n(g_n, x) - g_n(x))|.$$

By [4], we have

$$\begin{split} &|\omega(x)(B_{n}(g_{n},x)-g_{n}(x))|\\ &\leq \sum_{k=0}^{n}C_{n}^{k}x^{k}(1-x)^{n-k}|\omega(x)\int_{\frac{k}{n}}^{x}(x-v)g_{n}^{"}(v)\mathrm{d}v|\\ &\leq \sum_{k=0}^{n}C_{n}^{k}x^{k}(1-x)^{n-k}\omega(x)\frac{|x-\frac{k}{n}|}{\varphi^{2\lambda}(x)}|\int_{\frac{k}{n}}^{x}\varphi^{2\lambda}(v)\omega(v)g_{n}^{"}(v)\omega^{-1}(v)\mathrm{d}v|\\ &\leq \sum_{k=1}^{n-1}P_{n,k}(x)\omega(x)\frac{|x-\frac{k}{n}|}{\varphi^{2\lambda}(x)}|\int_{\frac{k}{n}}^{x}\omega^{-1}(v)\mathrm{d}v|\left\|\varphi^{2\lambda}g_{n}^{"}\right\|_{\omega}\\ &+\omega(x)|P_{n,0}\int_{0}^{x}(x-v)g_{n}^{"}(v)\mathrm{d}v|+\omega(x)|P_{n,n}\int_{1}^{x}(x-v)g_{n}^{"}(v)\mathrm{d}v|\\ &\leq \sum_{k=1}^{n-1}P_{n,k}(x)\omega(x)\frac{|x-\frac{k}{n}|^{2}}{\varphi^{2\lambda}(x)}(\frac{1}{\omega(\frac{k}{n})}+\frac{1}{\omega(x)})\left\|\varphi^{2\lambda}g_{n}^{"}\right\|_{\omega}\\ &+\omega(x)|P_{n,0}\int_{0}^{x}(x-v)g_{n}^{"}(v)\mathrm{d}v|+\omega(x)|P_{n,n}\int_{1}^{x}(x-v)g_{n}^{"}(v)\mathrm{d}v|\\ &\stackrel{\triangle}{=}I+J+K. \end{split}$$

For I, by the Cauchy-Schwarz Inequality, we obtain

$$I \leq \left\{ \frac{\omega(x)}{\varphi^{2\lambda}(x)} \left[\left(\sum_{k=1}^{n-1} P_{n,k}(x) | x - \frac{k}{n} |^4 \right) \left(\sum_{k=1}^{n-1} P_{n,k}(x) \frac{1}{\omega^2(\frac{k}{n})} \right) \right]^{\frac{1}{2}} + \frac{\varphi^{2-2\lambda}(x)}{n} \right\} \left\| \varphi^{2\lambda} g_n^{"} \right\|_{\omega}$$

$$\leq \left\{ \frac{\omega(x)}{\varphi^{2\lambda}(x)} \left[\frac{\varphi(x)}{n} \left(\frac{1}{n} + \varphi^2(x) \right)^{\frac{1}{2}} \omega^{-1}(x) \right] + \frac{\varphi^{2-2\lambda}(x)}{n} \right\} \left\| \varphi^{2\lambda} g_n^{"} \right\|_{\omega}$$

$$\leq \left[\frac{\varphi^{1-2\lambda}(x)}{n} \left(\frac{1}{n} + \varphi^2(x) \right)^{\frac{1}{2}} + \frac{\varphi^{2-2\lambda}(x)}{n} \right] \left\| \varphi^{2\lambda} g_n^{"} \right\|_{\omega}$$

$$\leq C\delta_n(x) \left\| \varphi^{2\lambda} g_n^{"} \right\|_{\omega} .$$

In the same way, for J we have

$$\begin{split} J &\leq \omega(x) \left| (1-x)^n \int_0^x (x-v) g_n^{"}(v) \mathrm{d}v \right| \\ &\leq \omega(x) \frac{x(1-x)^n}{\varphi^{2\lambda}(x)} \left\| \varphi^{2\lambda} g_n^{"} \right\|_{\omega} \left| \int_0^x \omega^{-1}(v) \mathrm{d}v \right| \\ &\leq \omega(x) \frac{x(1-x)^n}{\varphi^{2\lambda}(x)} \left\| \varphi^{2\lambda} g_n^{"} \right\|_{\omega} \left| \int_0^x v^{-a} \mathrm{d}v \right| (1-x)^{-b} \\ &\leq \frac{1}{1-a} \varphi^{-2\lambda}(x) x^2 (1-x)^n \left\| \varphi^{2\lambda} g_n^{"} \right\|_{\omega} \\ &\leq C \frac{\varphi^{2-2\lambda}(x)}{n} \left\| \varphi^{2\lambda} g_n^{"} \right\|_{\omega}. \end{split}$$

Similarly, we can also estimate the bound of K.

The proof of the Lemma 4 is completed.

Remark 3. Lemma 4 is the direct theorem in the approximation with *Jacobi* weights by *Bernstein* operators in C[0,1], which extend the result in the approximation without weights.

3. Proof of Main Results

Proof of Theorem 1. For $f \in C_0$, by Lemma 2, we have

$$(3.1) \qquad \left| \omega(x) \varphi^{2\lambda}(x) B_n''(f; x) \right| \le C n \varphi^{2-2\lambda} \|f\|_{\omega} \le C (n^{-\frac{1}{2}} \varphi^{1-\lambda}(x))^{-2} \|f\|_{\omega}.$$

For all $g \in D$, by (3.7) and Lemma 3, we have

$$\begin{split} & \left| \omega(x) \varphi^{2\lambda}(x) B_n^{"}(f;x) \right| \\ \leq & \omega(x) \varphi^{2\lambda}(x) \left| B_n^{"}(f-g;x) \right| + \omega(x) \varphi^{2\lambda}(x) \left| B_n^{"}(g;x) \right| \\ \leq & C (n^{-\frac{1}{2}} \varphi^{1-\lambda}(x))^{-2} (\|f-g\|_{\omega} + (n^{-\frac{1}{2}} \varphi^{1-\lambda}(x))^2 \left\| \varphi^{2\lambda} g^{"} \right\|_{\omega}). \end{split}$$

Thus, by (1.4) and the definition of $\delta_n(x)$, Theorem 1 holds.

Proof of Theorem 2. By Theorem 1 we only need to prove the inverse part. Let $0 < t\varphi^{\lambda}(x) < \frac{1}{8}$ and $2t\varphi^{\lambda}(x) < x < 1 - 2t\varphi^{\lambda}(x)$, then by Lemma 1, Lemma 4 and the *Hölder* Inequality, we have

$$\begin{split} &|\omega(x)\Delta^2_{t\varphi^\lambda}f(x)|\\ \leq &|\omega(x)\Delta^2_{t\varphi^\lambda}(B_n(f,x)-f(x))|+|\omega(x)\Delta^2_{t\varphi^\lambda}B_n(f,x)|\\ \leq &C|\omega(x)\sum_{j=0}^2C_2^j\omega^{-1}(x+(1-j)t\varphi^\lambda(x))\omega^2_{t\varphi^\lambda}(f,n^{-\frac{1}{2}}\varphi^{1-\lambda}(x+(1-j)t\varphi^\lambda(x))\omega|\\ &+|\omega(x)\int_{-\frac{t\varphi^\lambda}{2}}^{\frac{t\varphi^\lambda}{2}}\int_{-\frac{t\varphi^\lambda}{2}}^{\frac{t\varphi^\lambda}{2}}|B_n^{"}(f,x+u+v)\mathrm{d}u\mathrm{d}v||\\ \leq &C\omega^2_{t\varphi^\lambda}(f,\delta^{\frac{1}{2}}_n(x))\omega+n^{1-\frac{\alpha}{2}}\int_{-\frac{t\varphi^\lambda}{2}}^{\frac{t\varphi^\lambda}{2}}\int_{-\frac{t\varphi^\lambda}{2}}^{\frac{t\varphi^\lambda}{2}}\varphi^{\alpha-2-\alpha\lambda}(x+u+v)\mathrm{d}u\mathrm{d}v\\ \leq &C\omega^2_{t\varphi^\lambda}(f,\delta^{\frac{1}{2}}_n(x))\omega+Cn^{1-\frac{\alpha}{2}}\left[\int_{-\frac{t\varphi^\lambda}{2}}^{\frac{t\varphi^\lambda}{2}}\int_{-\frac{t\varphi^\lambda}{2}}^{\frac{t\varphi^\lambda}{2}}\varphi^{-2}(x+u+v)\mathrm{d}u\mathrm{d}v\right]^{1-\frac{\alpha}{2}}\\ &\cdot\left[\int_{-\frac{t\varphi^\lambda}{2}}^{\frac{t\varphi^\lambda}{2}}\int_{-\frac{t\varphi^\lambda}{2}}^{\frac{t\varphi^\lambda}{2}}\varphi^{-2\lambda}(x+u+v)\mathrm{d}u\mathrm{d}v\right]^{\frac{\alpha}{2}}\\ \leq &C\omega^2_{t\varphi^\lambda}(f,\delta^{\frac{1}{2}}_n(x))\omega+Cn^{1-\frac{\alpha}{2}}[(t\varphi^\lambda(x))^2\varphi^{-2}(x)]^{1-\frac{\alpha}{2}}[(t\varphi^\lambda(x))^2\varphi^{-2\lambda}(x)]^{\frac{\alpha}{2}}\\ \leq &C[\omega^2_{t\varphi^\lambda}(f,\delta^{\frac{1}{2}}_n(x))\omega+t^2(n^{-\frac{1}{2}}\varphi^{1-\lambda}(x))^{\alpha-2}]\\ \leq &C(\omega^2_{t\varphi^\lambda}(f,\delta^{\frac{1}{2}}_n(x))\omega+t^2\delta^{\frac{\alpha-2}{2}}_n). \end{split}$$

Let $\delta = \delta_n(x)$, $A = (2C+1)^{\frac{1}{\alpha}}$ and $\delta = t/A$. By the induction we have that for $k \in N$

$$\omega_{\varphi^{\lambda}}^{2}(f,t)_{\omega} \leq C(\omega_{\varphi^{\lambda}}^{2}(f;\frac{t}{A})_{\omega} + t^{\alpha}A^{2-\alpha})
\leq \cdots
\leq 2^{k}C^{k}[\omega_{\varphi^{\lambda}}^{2}(f;tA^{-k})_{\omega} + t^{\alpha}A^{2}\sum_{l=1}^{k}(2CA^{-\alpha})^{l}]
\leq 4t^{2}(2CA^{-2})^{k} ||f||_{\infty} + t^{\alpha}A^{2}2C/(A^{\alpha} - 2C).$$

Thus, letting $k \to \infty$ we obtain

$$\omega_{\varphi^{\lambda}}^{2}(f;t)_{\omega} \leq Ct^{\alpha}.$$

The proof is completed.

Remark 4. In the proof of Theorem 2, we can easily see the assumption $f \in C_0$ can be replaced by $f \in C[0,1]$ in the inverse part, but not in the direct part.

ACKNOWLEDGMENTS

The referee gave important comments on Theorem 2. The authors deeply thanks the referee for his (or her) very helpful comments.

REFERENCES

- 1. Z. Ditzian, Derivatives of Bernstein Polynomials and smoothness, *Proc. Amer. Math. Soc.*, **93** (1985), 25-31.
- 2. Z. Ditzian and K. G. Ivanov, Bernstein-type Operators and Theirs Derivatives, *J. Approx. Theory*, **56** (1989), 72-90.
- 3. D. X. Zhou, On Smoothness Characterizied by Bernstein-type Operators, *J. Approx. Theory*, **81** (1995), 303-315.
- 4. Z. Ditzian and V. Totik, Moduli of Smoothness, New York, Springer-Verlag, 1987.
- 5. D. X. Zhou, Rate of Convergence for Bernstein operators with Jacobi-Weights, *ACTA Mathematica Sinica*, **35(3)** (1992), 331-338 (in chinese).
- 6. S. S. Guo, L. X. Liu and X. W. Liu, Pointwise Estimate Modified Bernstein Operators, *Studia. Scie. Hungarica*, **37** (2001), 69-81.
- 7. D. X. Zhou, A Note on Derivatives of Bernstein Polynomials, *J. Approx. Theory*, **78** (1994), 147-150.
- 8. Z. Ditzian, A Global Inverse Theorem for Cominations of Bernstein Polynomials, *J. Approx. Theory*, **26** (1979), 277-299.

Jianjun Wang
Institute for Information and System Science,
Xi'an Jiaotong University,
Xi'an 710049,
E-mail: wangjianjun@mail.xjtu.edu.cn
and
School of Mathematics and Statistics,
Southwest University,
Chongqing 400715,
E-mail: wjj@swu.edu.cn
P. R. China

Zongben Xu Institute for Information and System Science, Xi'an Jiaotong University, Xi'an 710049, P. R. China

Guodong Han College of Mathematics ad Information Science, Shaanxi Normal University, Xi'an 710062, P. R. China